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[2] from numpy import linalg

Q C @ from sklearn.linear_gmrs
import statistics as

{x} - import matplotlib.py
» B sample_data from scipy import st
import numpy.polynom

n cinderella.csv

/usr/local/lib/pytho
warnings.warn("Set

Uploading a File for Creating a Scatterplot

o df=pd.read_csv("/content/gunlaws.csv")
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o import pip

ﬁ : import pandas as pd
import numpy as np

» [ sample_data import scipy |
from sklearn.cluster import KMeans

‘ cinderella.csv from sklearn.decomposition import PCA
import matplotlib.pyplot as plt
df=pd.read_csv("/content/cinderella.csv")
print(df)
data=np.array(df)

Unnamed: @ Rhodopis - Egypt

Name means ash

Herroine is persecuted

Slavery

Picking of lentils or beans
Weaving/spinning

Cannabolism

Cruel Stepmother or Stepsisters

Herroine kills stepmother, sister
Herroine arranges marriage to stepmother
Weak father or absent

Magical animal

80.28 GB available Magical fairy (female or male)
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import pip

import pandas as pd

import numpy as np

import scipy

from sklearn.cluster import KMeans
from sklearn.decomposition import PCA
import matplotlib.pyplot as plt
df=pd.read_csv("/content/cinderella.csv")
data=np.delete(df,8,1)
gramian=np.dot(np.transpose(data),data)

If your records are in the rows:
np.dot(data,np.transpose(data))
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— import pandas as pd
{X} import numpy as np
» [ sample_data import scipy
. from sklearn.cluster import KMeans
c . cinderella.csv :

import pip

from sklearn.decomposition import PCA
0 import matplotlib.pyplot as plt

df=pd.read_csv("/content/cinderella.csv") The jth number in the ith TYOW
R E R LA (2 tells you how many attributes

ramian=np.dot(np.transpose(data),dats . : .
Bre p-dot (np SR that tale i and tale j have in
print(gramian)

comimon.

How many attributes do the 1st

344 3434434443344434 5 :
3944646566056 6%605505T°54 tale and the 2™¢ tale have in
: : : [4415810 961057 655786 8 8 common?
The i number in the i* row tells you [34810796866456866787
how many attributes that tale has. [:]6 107187115353 73°9 16 13 16
[3 97 1158564457656 77

9
6

a
How many attributes does the 15t tale [4666115127898167910 119
1183"39 [4510 89871476567 777878777 810494285 106 10]
. [36569587 12767 9108899895566456643875]
[46769696711897998788857974547497]
[4564748568986788667846764445376]



WE NEXT FOCUS ON PROJECTION
WHAT IS A PROJECTION?




WHAT IS A PROJECTION?




PRINCIPAL COMPONENT ANALYSIS
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Q G ﬂ @ “/ o reduced_data = PCA(n_components=2).fit_transform(np.transpose(data))

x=reduced_data[:,0]
( - y=reduced_data[:,1]







You can use PCA with
non-binary data but
standardize it first.

Contact Data Nexus if
you have questions
about this
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Two options are k-means++ or random Sets the number of regions AHRDEE of.1tera:t1ons ot
D kmeans with different

for choosing the centroids of the regions in your clustering. centroids
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kmeans = KMeans(init="k-means++", n_clusters=5, n_init=4)

{x} o kmeans.fit(reduced_data)
» [ sample_data

# Step size of the mesh. Decrease to increase the quality
o . cinderella.csv = 0.02 # point in the mesh [x_min, x_max]x[y_min, y_max].

D # Plot the decision boundary. For that, we will assign a color to each
Creates a x and y range just 1 less than x_min, x_max = reduced_data[:, ©].min() - 1, reduced_data[:, @].max() + 1
the actual mins and maxs, you can y_min, y_max = reduced_data[:, 1].min() - 1, reduced_data[:, 1].max() + 1
choose other values. XX, Yy = np.meshgrid(np.arange(x_min, X_max, h), np.arange(y_min, y_max, h))

Creates a grid within your range of step
size h=0.02

TO DO: Use this code to create a grid of

Kmeans clustering uses an average value to separate your regions :
g g P ¥ g .01 step size and 4 clusters.
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c D > o # Obtain labels for each point in mesh. Use last trained model.
(l\ * a tb\ Z = kmeans.predict(np.c_[xx.ravel(), yy.ravel()])
{I} (o - # Put the result into a color plot
» [ sample_data Z = Z.reshape(xx.shape)
C B cinderella.csv plt.imshow(
Z, I

interpolation="nearest",
extent=(xx.min(), xx.max(), yy.min(), yy.max()),
cmap=plt.cm.Pastell,

aspect="auto",

plt.plot(reduced_data[:, @], reduced_data[:, 1], "k.", markersize=2)
plt.show()
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IFYOU WANT TO LEARN
MORE ABOUT ANY OF
THESE TOPICS CONSIDER

CSC 4422

CSC 1100
MTH 2300

VISIT DATA NEXUS IN
INNOVATION HALL 108C
FOR OTHER
SUGGESTIONS
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